Jogging in the Park b\fa.-n

Logic Grid Puzzle (SR O ®

Four people crossed a park while jogging. There were many paths, so they didn't follow the same route. Which suit was Logan
wearing?

1. Logan was slower than the person in green. 5. Ashley was wearing the black suit or ran for 30 minutes.

2. Brynn ran fewer minutes than the person wearing the red 6. Brynn was wearing the pink or black suit.

suit. 7. The slowest person was wearing the pink or red suit.

3. Ashley was 1 km/h faster than Carmen. 8. Carmen had the pink suit or ran for 10 minutes.
4. The person running at 9 km/h ran twice the time of the
person in green.

O
B
/ Suit / Pace / Time B 5
O %
O -~
B g
o o
= Q
s k=
& =8
& NIRRT\t R AN >
& Q \ 3 3\ Q S S S S © ©
AT NN O SRONS NEPRNRSRSNIRN A =
T S S SRS
Ashley [m]ig ==t
:ﬂ:‘iﬂ
™ Brynn Of0)
£
a
z Carmen
Logan
10 min
® 15 min
E
= 20 min
30 min
Suit Pace Time
7 km/h
Ashley
° 8 km/h
S Brynn
a 9 km/h
Carmen
10 km/h
Logan
©Bra1nz_111_a.com N ) Play More Logic Grid Puzzles more [E] R [E]
Free for printing and distribution for non-commercial brainzill loqi id ] BRAIN
use only (home, schools, libraries and churches) rainzilla.com/x/logic-grid-puzzles STUMPERS [m]



https://www.brainzilla.com/x/main/home/?src=BLGP1U&evt=copyright-footer/click
https://www.brainzilla.com/x/logic-grid-puzzles/?src=BLGP1U&evt=play-more/click
https://www.brainzilla.com/x/main/home/?src=BLGP1U&evt=logo/click
https://www.brainzilla.com/x/lgp/66/?src=BLGP1U&evt=link-widget/click

Jogging in the Park .
g ces Sbkain

Four people crossed a park while jogging. There were many paths, so they didn't follow the same route. Which suit was Logan
wearing?

1. Logan was slower than the person in green. 5. Ashley was wearing the black suit or ran for 30 minutes.
2. Brynn ran fewer minutes than the person wearing the red 6. Brynn was wearing the pink or black suit.

suit. 7. The slowest person was wearing the pink or red suit.

3. Ashley was 1 km/h faster than Carmen. 8. Carmen had the pink suit or ran for 10 minutes.

4. The person running at 9 km/h ran twice the time of the
person in green.
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